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 7 4 1 
 + 2, 9 4 
 6, 6 8 4 

 6 5 2 
 + 3, 2     4 
 4, 9 2 6 

 3, 6 4 2 
 +  8 3 
 8, 4 7 3 

Adding two numbers

 Find each sum.

 Remember to carry if you need to. 

5,621 people saw the local soccer team play 
on Saturday, and 3,246 people watched the 
midweek match. How many people saw  
the soccer team play that week?

6,214 people went to the rock concert on 
Saturday night, and 3,471 people went on 
Sunday night. How many people saw  rock 
concerts that weekend?

 2, 6 4 2 
 3, 2 4 1 

 4, 3 2 5 
 2, 6 5 3 

 2, 4 7 1 
 4, 2 3 8 

 8, 4 8 2 
 1, 3 4 9 

 5, 7 6 4 
 3, 9 1 5 

 3, 7 4 9 
 2, 4 7 1 

  4, 3 2 1 
 2, 4 6 5 

  3, 7 9 4 
 5, 3 2 5 

Find each sum.

Write the missing number in the box.

 1,342 + 1,264 = 2,531  + 4,236 = 

 2,013 + 3,642 = 1,738 + 4,261 = 

Write the answer in the box.

Find each sum.
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This page involves addition work, with larger numbers. If children have difficulty 
with the section on finding missing numbers, have them try various digits until 

they find the correct one.
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7 4 1
+ 2, 9 4

6, 6 8 4

3, 7 4 9
+ 2, 4 7 1

3, 6 4 2
+ 8 3

8, 4 7 3

,6 5 2
+ 3, 2 4

4, 9 2 6

3,
3

Adding two numbers

Find each sum.

Remember to carry if you need to.

9,685 people

8,867 people

5,621 people saw the local soccer team play
on Saturday, and 3,246 people watched the
midweek match. How many people saw 
the soccer team play that week?

6,214 people went to the rock concert on
Saturday night, and 3,471 people went on
Sunday night. How many people saw  rock
concerts that weekend?

6, 2 20

5, 7 6 4
+ 3, 9 1 5

9, 6 79

8, 4 8 2
+ 1, 3 4 9

9, 8 3 1

2, 6 4 2
+ 3, 2 4 1

5, 8 83

4, 3 2 5
+ 2, 6 5 3

6, 9 78

2, 4 7 1
+ 4, 2 3 8

6, 7 09

4, 3 2 1
+ 2, 4 6 5

6, 7 86

3, 7 9 4
+ 5, 3 2 5

9, 1 19

Find each sum.

1,
7 4, 1

Write the missing number in the box.

1,342 + 1,264 = 2,531 + 4,236 =

2,013 + 3,642 = 1,738 + 4,261 =

2,606 6,767

5,655 5,999

Write the answer in the box.

Find each sum.
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